10/1
Sunday, October 1, 2017

-(awc (ons
e
Domain [, t, j_]
%\::5 Rauge: 13, 3]
T [ (| ILQL
— | — 1 )
- ¢ \Es\. 7~
T-3
A9
T Dom (00 oo>

;LEI_L[\\':;ZI\III(F (Zam (-00 ZJ
’\ll‘ 7}&

4
P>
’ B\S/E *’}\EZ—(:%'B\/ZN}@}: 3/?’3\}% 2(1'32-2'2.3:23.3
=3-2-3)3t%.3 2 R (=9.9=3%33

-6 33Uz

“J2o - éﬁiﬁ'ﬁié\@ 152 5205




- Jro¢ 6J5 =g s 0S5 Nz 5225

:Z\)’S_‘féﬁ':
° (x%)} ox" '*><' 3+JEW~~>< i ()*

= et = (5K
"\/—\_/\
P5/1S
Solve .
><77—(— 35 tISx =25
+75 75
><7‘3>< 25X +75 =O
xwﬂs(xﬁ) O
(;({-’7) ()( +Z§> =
X€5=0 xlﬂfZi:O
-5 =3 T~
X =729

= (OK (x*1)~ %X%;Q— Gwio
//72%7[0%
(><+D(f7>< % —6) =0

(x+0) (M-WX -G) = O A-C=-60 [p=-12
(x4) (1% (5%-6) + (5x-0) ) = O A«C=~} (=5

(x+) (5 x~6) (Zx+) =O

il Cx~-6GL=0 2%x4=20O



(x*) (9X~0) (LXT) =O
x+l=O Sx-6=0 2 x4(=0O

5x=6 2 x =]

K’é/ﬁ’& =-1

Pé, ]
XZ—tX . X _ X(K*Q . (x-0(xt)
PG B 00D, () (),

*
& b= (a-b)(a+b)

KOl D e ) (x3)

= ~ i
(G (N0 )l KEEE2
-5
Sk
o ><’5 X,§ - X’} -~ \
%L 3 x(xD _ 3 2w =3 T 2%=5
;LX R X—T KL K~ > ~2_
L w xet xS k2 ;
L <22 b (R
K42, 5]
-2 .
L) i P
. ):fl + | e R
B 3 - } “+ ‘“()("Z—) (?('e‘L) w
Sl ©! w (x2) Oce?) (w-) ()
KL

7 % —L MCK{Q)

Fall 2017 MAC1105 Page 3



+ K L
XK —y zx/v_ . Qx/ﬁ(xﬂ)

K=

1
|

3t

(7(-&)(;(1-2)
_ ZM ><+Z 2(74«%) w L $ T E
U M(x*') B K*"

Zﬁ’?i{” (1 S‘VLMa(am( %’ormj @fbi

S 2+ 54 (Z’f;)__ 1(7;‘-1-51'Z _ (it 51
21 24 D, 5

T

iscriminant
2 - o Tt
ax +bxeC=O —D X=

laC
Sobe;

e X=3x-7:0

Fall 2017 MAC1105 Page 4



(—3;' L’L((r}>: C{ t z? = 3?—>O '>Z wzaf SO[u 1o

¢ Lyk= x|
o= 2Lx+[=0O

GZ)L_ Q[,Sl = Q[”lz :’g —) 2 Camf(ax Solou[tbu}

- —

2 2. 5

+Zi‘§ = 2E it Jz_ %4— -3Jz [JS—\E'I'

c J2et! 2= X
L—Z 7 <=
(V'TV:‘/}):( *2»> 1-(+2 =
2x- =Kkl Jrtz=|
O = ®=x+F-2x ] 37 lpals 2
O= Xl\éx—tg g:_é}
0= (x-1)(%x-9) [o-(+2=5



X

Fall 2017 MAC1105 Page 6



